DELHI PUBLIC SCHOOL, BHILAI

DATE : 06.12.2023 PREBOARD EXAMINATION 2023-24 Time : 3 Hrs.
CLASS : X SUBJECT — ENGLISH LANGUAGE AND LITERATURE  Max. Marks : 80

General Instructions:

1. The question paper contains THREE sections- READING, GRAMMAR & WRITING and LITERATURE.
2. Attempt que.st:mns based on spec:ﬁc instructions for each part.
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SECTION A : READING SKILLS (20 MARKS)
1.  Read the passage given below: (10 Marks)

1. The world is big but in a sense, it starts with me. Knowledge and awareness about myself have to precede
my knowledge of things other than me. If I want the external environment to appreciate value, I need to
do it by myself first. In order to make the atmosphere around me green, 1 have to be green myself, in
belief and action.

2. From dusk to dawn and dawn to dusk, our every activity leaves its footprint on the environment and
ecology. It is a 24x 7, eternal phenomenon. A laboured consciousness of having to go green in all
possible areas is required in each one of us. It is, after all, our own self- interest and that of our
descendants. The conscious application of change is going to become a habit and one’s culture in due
course. Though we read and hear a lot of green initiatives, we hardly tweak our routines to suit the larger
picture.

3. Greenery in the surroundings prevents dust and noise pollution. The way we water and manure plants
also matters. Water is also a fast depleting resource. Sprinklers are one example to use and conserve it.
Compost from biowaste can be used as manure for plants which is cost effective and eco- friendly. We
can also contribute to the preservation of water bodies by not dumping our garbage in them. The use of
public transport systems in the place of individual modes can reduce carbon footprint.

4. ‘Reuse’, ‘Recycle’, ‘Re-engineer’ and ‘Renew’ are the mantras. Let us appreciate, support and contribute
our might to the promotional efforts of the community in this direction. Remember, my ecology is also
the community, society and nation that I care for which in turn cares for me. In other words, all these
seemingly outward initiatives done for others are going to make my life more comfortable ultimately.

5. I have to be therefore, concerned about what sort of environment I am responsible for my own
sustenance, livelihood and progress. As long as my impact is positive, my presence will be welcome. If it
is otherwise, I am going to be shunned. It is either ‘Embrace’ or ‘Embarrass’.

6. Green initiatives are anti- scorch Earth. Air, water and soil need to be conserved for the thriving of
mankind in the future. The increasing onslaughts on the quality of air and soil need to be reversed.
The indiscriminate exploitation of water- consumable water is only 0.3% of freshwater- needs to be
stopped. The earth ought not to shrink further, continue to breathe easy. Mother earth looks for only
love and care from her children and nothing more in return for all the wealth she has so generously
showered on us.

Based on the understanding of the passage, answer the following questions :

(i) Why does the author say that one should be concerned about the environment ? Choose the best

option from the following: (1)
(a) For better sustenance (b) For the betterment of culture
(¢) For the betterment of self (d) For future generations

(ii) The writer is all for measures to be taken to save the planet Earth when he says, “Air, water and soil
need to be conserved for the thriving of mankind in the future”. State 2 solutions he offers in the
extract. (Paragraph 6) (2)

(iii) Complete the sentence appropriately taking hints from Paragraph 3. (1)

We need to conserve water because

(iv) The passage includes some words that are opposites of each other. From the sets (a) — () given

below, identify two sets of antonyms. (2)
(a) Knowledge and awareness (b) Reduce and increasing
(c) Belief and action (d) Dusk and dawn (e) Indiscriminate and change
(v) Complete the sentence appropriately. (1)
The author says that the Earth ought not to shrink further and continue to breathe easy because
(vi) Supply one point to justify the following : (1)
I'need to do it by myself, first. In order to make the atmosphere around me green, I have to be
green myself in belief and action.
(vii) Why does the writer say, “The use of public transport systems in the place of individual modes...”?
(a) to enhance air quality (b) to reduce carbon footprint
(c) to manage ecosystem (d) All of these (1)
(viii) Based on your reading of the text, list any 2 preventive measures for the author’s statement -“Water
1s also a fast depleting resource”, in Paragraph 3. (1)
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Read the following passage carefully. (10 Marks)
1. India is home to an estimated 10% of the global Snow Leopard population spread across five

Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and Arunachal
Pradesh which is only 5% of the available habitat for the animal.

2. Project Snow Leopard was introduced in India by the Project Snow Leopard Committee instituted
by the Ministry of Environment and Forests, Government of India, in the year 2009 to safeguard
and conserve India’s unique natural heritage of high- altitude wildlife populations and their
habitats by promoting conservation through participatory policies and actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
gamering worldwide attention.

4, The Snow Leopard usually occurs at an altitude of > 2700 m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to protect
the Snow Leopard but as with Project Tiger it is considered an umbrella species and with its
protection, comes the protection of other species and the habitat of which they are all a part.

5. Top 3 National Parks in India where the Snow Leopard can likely be seen —
(i) Kibber Wildlife Sanctuary- Himachal Pradesh
(ii) Ulley Valley — Ladakh
(iii) Hemis National Park- Himachal Pradesh

b

6. The reasons for the introduction of Project Snow Leopard are as follows:
(i) High altitudes of India> 3000m including the Himalayan and Trans- Himalayan biogeographic
zones support a unique wildlife assemblage of global conservation.
(ii) There has been relatively less attention on the region from the viewpoint of wildlife conservation.
(iii) The region represents a vast range and system supporting important traditional pastoral
economies and lifestyles.
(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.
(v) India has ratified international agreements promoting the conservation of high — altitude
wildlife species such as the Snow Leopard.
(vi) The region is important for the country’s national security as well as international relations.
(vii) The high — altitude wildlife in India today faces a variety of threats.
(viii) The existing high — altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the questions given below:

(i) Complete the following sentence appropriately. (1)
Project Snow Leopard was introduced in India to ;

(ii) Complete the following sentence by filling in the blanks from Paragraph 4. (1)
The and the which usually occur at an altitude of > 2700m, are the apex
predators in the Himalayan Region.

(iii) Name Top 3 National Parks in India where the Snow Leopard can likely be seen. 2)

(iv) Infer the meaning of the line- “snow leopard is considered as an umbrella species’ (Paragraph 4) (1)

(v) In which states/ UTs of India can the Snow Leopards be found? (1)

(vi) In which year was the Project Tiger introduced in India? (1)

(vii) Give reasons for the introduction of Project Snow Leopard in high altitudes in about 40 words.
(Paragraph 6) (2)

(viii) Which of the following is the most appropriate title for Paragraph 27 (1)

(a) Preserving India’s Wild  (b) Project Tiger (c) Man in the Wild (d) Project Snow Leopard
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SECTION B: WRITING SKILLS AND GRAMMAR (20 MARKS)
GRAMMAR (10 Marks)

3. Complete ANY TEN of twelve of the following tasks, as directed.
(i) Fill in the blank by using the correct form of the word in the bracket, for the given portion of the
letter. (1)

Subject: Complaint against misbehaviour.
Dear Sir,

This is to respectfully submit that I (write) this letter with extreme pain and disgust
against the misbehaviour of the government officials in the office.

(ii) Read the given sentence from a health article. Identify the error and supply the correction in the
sentence. (1)

You should get skin disease if you don’t bathe everyday.
Use the given format for your response.

Error Corrections
(iii) Shreya wanted some information from Sneha about the location of the post office. (1)
Report Shreya’s question.
Shreya said, “Do you know where the nearest post office is?”
(iv) Read the dialogue between Divya and Arti, regarding buying a car. 1)

Divya: I am planning to buy a car.

Arti: Which car do you intend to buy?

Divya: I intend to buy the latest model of any popular company.
Select the correct option to complete the narration.

Divya told Arti that . Then Arti asked her which car she intended to buy. Divya said
that she intended to buy the latest model of any popular company.

(a) she was planning to buy a car (b) she plans to buy a car
(c) she will buy a car (d) she will be buying a car

(v) Fill in the blank by choosing the correct option to complete the sentence. (1)
Do you want ( a/ an/ the) extension to finish ( a/an/ the) major project.

(vi) Identify the error in the given sentence and supply the correction. (1)
After using the computer for a long time, looking into a distance for about five minutes relaxed
the eyes.

Use the given format for your response.

Error Correction

(vii) Select the option that identifies the error and supplies the correction for the following line. (1)
Today, the number of people who enjoys winter sports is bigger than that of twenty years ago.

Option Error Correction
a. the the people
b. people the people
¢ enjoys enjoy
d. is are
(viii) Fill in the blank by choosing the correct option to complete an online update. ' 1)
The constellation they to observe is clearly visible from here.
(a) were going (b) are going (c) was going (d) is going
(ix) Report the dialogue between Neha and Namita by completing the sentence. (1)

Neha : I'm really looking forward to the class picnic tomorrow.
Namita : Yes, after a long time we will be meeting our friends and teachers.

Neha told Namita that she was really looking forward to the class picnic the following day.

Namita agreed that after a long time
Contd...4
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(x) Complete the given narrative by filling in the blank with the correct option.

(1)
Frank in Toronto?
(a) Did you meet (b) Have you meet  (c) Was you meeting (d) Will you met
(xi) Complete the line from a poem by filling the blank with the correct option. (1)
Now is the time to love, and better still,
To serve our loved ones, over passing ill
To rise triumphant : thus the perfect flower
Of life....... to fruitage
(a) come (b) shall come (c) came (d) had came
(xii) Identify the error in an online advertisement: (1)
Hindol Classes, New Delhi

If music is in your passion, we were the right choice for you.
Use the given format for your response.

Error Correction

WRITING SKILLS (10 Marks)

You are Raman / Ramya Singh, computer- in- charge of Modern Public School, Kanpur. You wish to
buy 20 computers and computer accessories from HPC Computers, New Delhi. Draft a letter, in about
120 words, placing the order giving all the specifications of the product and its quality. (5)
OR
4.B You are Swarnim/ Swarnima Dey of 143, Palm Avenue, Kolkata. While walking home from school,
you saw the flyers stuck all over the walls with the following message.

4.A

“Learn to swim- the best exercise your body can do’*- College Square Swimming Club, Kolkata.
You are interested to join a swimming club of repute in your town. Write a letter to the Secretary,
College Square Swimming Club, Kolkata in not more than 120 words, enquiring about the details,
about the membership and other terms and conditions of the club.

5.A The following flow chart has been taken from a literary magazine. (5)
How to write a great story

Step 1 Step 2 Step 3 Step 4 Step 5 Step 6
Before starting Find one excellent  Be precise on Try toinvolve  Use ‘figures  Treat
think about the character and focus  what events all the major of speech’ adjectives
ideas and the on it. you share, senses like such as and adverbs
background but don’t touch, smell, metaphors, with proper
of the topic, then describe it ; let  hearing, vision.  allusions, attention.
choose one topic. the readers get similes,

involved. very carefully.
\ A great story ' «— Step 7
is created.

Write a paragraph in about 120 words analyzing the process of writing a story.
You may begin like this:
The given flow chart provides information on the chronological method of writing a great story...’
You may end like this:
The last step is the final product of the writer’s thought and creativity...
OR
5B Read the points given below from a feedback section of a government website regarding problems
faced by physically disabled people.
Absence of ramps for wheelchairs
Unclean toilets
Unsuitable visiting timings. Tourist guides untrained in sign language
Lack of braille — script tourist pamphlets
Lack of empathy from fellow visitors and officials _
Write a paragraph in about 120 words demarcating the problems they face at tourist places and include
some suggestions as well.
You may begin like this:
Physically disabled people are as much a part of our society as any other individual...
You may end like this:
It is indeed our responsibility too to make sure we help them in whatever way fits best...
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SECTION C: LITERATURE (40 MARKS)
6. Read the extracts and answer the questions given below: (ANY ONE) (5)

A. But for Valli, standing at the front door was every bit as enjoyable as any of the elaborate games
other children played. Watching the street gave her many unusual experiences.The most
fascinating thing of all was the bus that travelled between her village and the nearest town. It
passed through her street each hour, once going to the town and once coming back. The sight of
the bus, filled each time with a new set of passengers, was a source of unending joy for Valli,

(i) What was the most interesting thing for Valli? (1)
(a) The children playing elaborate games.
(b) Watching the street
(c) The bus that travelled through her village.
(d) All of the above

(ii) Read the following descriptions (a)- (c) and identify which one correctly corresponds to the
extract. (1)
(a) A debate is a formal discussion on a particular topic, usually with two or more people
presenting different viewpoints and arguments.
(b) A soliloquy is a speech given by a character alone on stage, which reveals their innermost
thoughts and feelings to the audience.
(c) A narrative, a story or an account of events, experiences whether true or fictitious.

(iif) How did Valli feel standing at the doorway? For what specific reason did Valli stand at the
doorway? Answer in about 40 words. (2)

(iv) How was Valli different from children of her age? (1)
OR
B. She was not convinced. “No”, she replied, “there is nothing more humiliating than to have a
shabby air in the midst of rich women.”

Then her husband cried out, “How stupid we are! Go and find your friend Madame Forrestier and
ask her to lend you her jewels.”

She uttered a cry of joy. ‘It is true!” she said, *I had not thought of that.”

(i) Why did she need the jewels? (1)
(a) To go to a party of rich people (b) For a photoshoot
(c) To get a replica made (d) For wearing them at home
(i) What did Matilda’s husband suggest her? (1)
(iii) Which word would correctly substitute *said’, in the given sentence from the extract? (1)

The old man said a prayer before breathing his last.

(iv) What kind of a person is Mme Loisel and why is she always unhappy? (Answer in about
40 words) 2)

7. Read the following extracts and answer the following questions: (ANY ONE) (3)

A. “Ink trickled down to the bottom of the household,
And little mouse Blink strategically mouseholed.
But up jumped Custard snorting like an engine,
Clashed his tail like irons in a dungeon,
With a clatter and a clank and a jangling squirm,
He went at the pirate like a robin at a worm.

(1) Write at least 2 onomatopoeic words used in the above extract. (1)
(i1) What is the poet’s purpose in using the onomatopoeic words given in the extract? (1)
(a) To emphasise the boldness of Custard (b) To introduce the character
(c) To impress upon the readers (d) To portray Custard a coward
(iii) The extract mentions ‘irons’ in dungeons. According to this extract, what does ‘irons’ refer to? (1)
(iv) “He went at the pirate like a robin at a worm.” Why has this comparison been used here? (2)
(Answer in 40 words.)
OR
B. The fog comes
on little cat feet.
It sits looking

over harbour and city
on silent haunches
and then moves on.
(i) The fog arrives and departs : (1)
(a) by announcing its arrival (b) silently  (c) loudly (d) Both (a) and (c)
Contd....6
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(i) Which image does the poet compare to the fog? What are the similarities between that image and

the fog? Answer in about 40 words. (2).
(iii) The figure of speech prominent in the poem ‘Fog’ is metaphor- State-True/ False. (1)
(iv) What is fog doing? (1)
Answer ANY FOUR of the following five questions in about 40-50 words. (4x3=12)

(1) Inthe poem, “The Trees’, the process of “moving out” was tedious for the trees. Support the
statement with reference to the poem.

(i) Without the assistance of the airhostess, the narrator could not have transported Mijbil from Basra
to London safely. Comment.

(iif) What made the woman in the control centre look at the narrator strangely?
(The Black Aeroplane — Two Stories About Flying)

(iv) Inthe play, ‘“The Proposal’, in what manner does Natalya and Chubukov insult Lomov for not
being a good hunter?

(v) The tiger in the poem, ‘A Tiger in the Zoo® has some obvious limitations .Describe them in
contrast to its natural habitat.

Answer ANY TWO of the following three questions in about 40-50 words: (2x3=6)
(i) How did one old book of nursery rhymes save the Earth from a Martian invasion?
(ii) Why was Horace Danby sure that his robbery at Shotover Grange would be a successful one?

(iii) Ausable was always one step ahead of everyone. Highlight any two instances from ‘The Midnight
Visitor’ when this holds true.

Answer ANY ONE of the following questions. (1x6=6)

A.  Say not in grief that she is no more
But say in thankfulness that she was
A death is not the extinguishing of a light,
But the putting out of the
Lamp because the dawn has come

These lines written by Tagore certainly reaffirm that a little help and guidance to those who are
experiencing grief may help them understand and overcome it. It is a big relief for the grieving persons
if support and care are extended to them. Explain citing examples from the chapter *’The Sermon at
Benares’’ in about 120 words.

You may begin this way: ‘ .
According to Gautama Buddha, the world is affected by suffering, death and deciay‘ Kisa Gotami
suffered due to the death of her beloved son... went to Gautama Buddha who relieved her ...

OR

B. Imagine Anne Gregory grows up to be a motivational speaker. As Anne Gregory, write a short

speech on the importance of loving oneself in about 120 words. (For Anne Gregory)

You may begin this way:
Dear friends _
The importance of believing in oneself can never be overstated. It becomes most important
therefore, to love oneself. I learnt this as a young teen, the day a young man pointed out that...

Answer ANY ONE of the following questions. (1x6=6)

(A) Bholi chose a dignified life of service rather than surrendering herself to a greedy old man for
the rest of her life. Education provides the required stimulus to overcome one’s personal
barriers. Education gave her strength, knowledge and understanding. Explain‘the role of
education in shaping the life of a child with respect to the lesson *Bholi’. Answer in about 120
words.

OR _

(A) “Success is failure turned inside out”. Prove the statement with inf,tances from the journey takn?n
by Richard Ebright from losing at the Science Fair to winning at the International Fair.
(The Making of a Scientist) Answer in about 120 words.
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 04.12.2023 PREBOARD EXAMINATION 2023-"24 Time : 3 Hrs.
CLASS : X SUBIJECT - MATHEMATICS Max. Marks : 80

General Instructions :

(i) This Question Paper has 5 sections A, B, C, D and E.
(if) Section A has 20 MCQs carrying 01 mark each.
(iii) Section B has 5 questions carrying 02 marks each.
(iv) Section C has 6 questions carrying 03 marks each.
(v) Section D has 4 questions carrying 05 marks each.
(vi) Section E has 3 Case Based Integrated units of assessment (04 marks each) with sub-parts of the
values of 1, 1 and 2 marks each respectively.

(vii) All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of

3 marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the
2 marks questions of Section E.

(viii) Draw neat figures wherever required. Take w = E;?E wherever required if not stated.

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

Section — A
(This section consists of 20 questions of 1 mark each)

If pz=%, then p isa/an

(a) whole number (b) integer (c) rational number (d) irrational number

The number of quadratic polynomials having zeros —5 and — 3 is/are:
(a) 1 (b) 2 (c) 3 (d) more than 3

For which of the following values of m and n do the given pair of equations have infinitely many solutions?
mx+4y—-6=0
ny—12x+12=0

@m=-1,n=2 b)ym=-1,n=3 c)m=6,n=-8 (d m=6,n=-2

The fourth term from the end of the A.P. —11,—8,-5,...,49 is

(a) 37 (b) 40 (c) 43 (d) 58

The end points of the diameter of a circle are (2,4) and (—3,—1) . The radius of the circle is :
(a) %ﬁ units (b) 5vVZ units (€) 3V2 units (d) f‘%f units
In the given figure, DE || BC. The value of x is :

v

B . Xcm C
(a) 6cm (b) 10 cm (c) 12.5em (d) 8 em

Two A.P.’s have same common difference. If the difference between their 100" terms is 100. then what is
the difference between their 1000™ terms?

(a) 0 (b) 50 (c} 100 (d) 1000
The distance of the point (-1, 7) from x — axis is:
(a) —1 (b) 6 (c) V50 (d) 7
In the given figure, AB=BC =10cm.If AC = 7cm, thenlengthof BP is:
B
P Q
A R G

(a) 3.5cm (b) 6.5cm (¢) 5cm (d) 7em

A pole 6m high casts a shadow 2+v/3 m long on the ground, then the sun’s angle of elevation is

(a) 90° (b) 30° (c) 45° (d) 60°

If sinA =-:; , then the value of cot A is :

1 V3
(a) V3 (b) = © 3 (@) 1
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12.

13.

14.

15,

16.

17.

18.

19.

20.

21.

22,

23.

24.

e 21
In the given figure, PQ = 3 cm , then the length of MN is :

(a) 3cm (b) 4.5 cm (c) ﬁ-;:.mi (d) 5em

In a rectangle, the angle between a diagonal and a side is 30° and the length of the diagonal is 8 cm. The
area of the rectangle is :

(a) 16cm? (®) 7 em? (¢) 16v3 cm? (d) 8v3 cm?

If the perimeter of a semicircular protractor is 36 cm then its diameter is :

(a) 14 cm (b) 16 cm (c) 1Bcm (d) 12cm

Two coins are tossed together. The probability of getting at least one tail is:

(a) 1/4 (b) ¥ (c) % (d) 1

The area of a circle that can be inscribed in a square of side 6 cm is :

(a) 36 mcm? (b) 18 m cm? (c) 12 r cm? (d) 9w cm?

From the letters of the word ‘MATHEMATICS” , the probability of selecting a vowel is :
8 7 3 4

@ (b) = © = @ =

The empirical relation between mode, median and mean of a distribution is :

(a) Mode = 3 Median — 2 Mean (b) Mode = 2 Mean — 3 Median

(c) Mode = 2 Median — 3 Mean (d) Mode = 2 Median — Mean

DIRECTION : In question number 19 and 20, a statement of Assertion (A) is followed by a statement of
Reason (R) . Choose the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

Assertion (A) : 12" term of the A.P. 30, 27, 24, ... is the first negative term of the A.P.

Reason (R) : Sum of first n terms of an A.P. a, a+d, a + 2d,.. is S, =§ [2a + (n—1)d]

Assertion (A) ; The radii of two cones are in the ratio 2 : 3 and their volumes are in the ratio 1 : 3. Then
the ratio of their heights is 3 : 2.

Reason (R) : Volume of cone is %ﬂ:r?h ;

Section - B
This section consists of 5 questions of 2 marks each.

Two numbers are in the ratio 2 : 3 and their L.C.M. is 180. What is the H.C.F. of the two numbers?

In the given figure if PA and PB are tangents to the circle with centre O
such that £APB = 50°, then find the measure of Z0AB .

A,a--—“—-__,‘\
<)
B"“—"’/
In the given figure, = = 2L and £1 = 22 . Show that A PQS ~ ATQR .

Q5 PR

1

Q "
Evaluate : cos230° + sin® 45° — 3i tan? 60° + cos 90° .
OR
a asind-bcosd
If tan6=7.find o o bcos
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25.

27.

28.

29.

31.

32.
33.

34.

3s.

e e

Find the area of a quadrant of a circle whose circumference is 44 cm.
OR
If 3 cows are tied each with a rope of length 14 cm at three corners of a grass field of triangular shape, find

the area of region in which the cows can graze. (Use m = =).

Section - C
This section consists of 6 questions of 3 marks each.

Prove that 2 + /3 is an irrational number.

If a , B arethe zeros of a quadratic polynomial 5x® + 5x + 1, find the value of
(i) a®+ p? (i) =4 g1
The sum of a two digit number and number obtained by reversing the digits is 66. If the digits of the
number differ by 2, find the number/numbers.
OR
Solve : 152x — 378y =-74
—378x + 152y = —604

Prove that the parallelogram circumseribing a circle is a thombus.

OR
Prove that the opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles at the
centre.

secd -1 sech +1
Prove that J J
secd-1

= 2co
secd +1 sec @

Given below is the frequency distribution of the heights of players in a school :
Height (in cm) 160-162 | 163-165 | 166-168 | 169-171 | 172-174

Number of Students 15 118 142 127 18
Find the modal height and interpret it.
Section - D

This section consists of 4 questions of 5 marks each.
State and prove the Basic Proportionality theorem.

In a rectangular park of dimensions 50 m x 40 m, a rectangular pond is constructed so that the area of
grass strip of uniform width surrounding the pond would be 1184 m? . Find the length and breadth of

the pond. TN, P e ‘]‘
.._-I .'.'.'I T NGO 1. ol e e AL .t .
PR S et s PR
: _.'_':::: :::'_'-’.".
e~
OR

The sum of the reciprocals of Rehman’s age (in years) 3 years ago and 5 years from now is % . Find his
present age.
A juice seller was serving his customers using glasses as shown in figure. The inner diameter of the cylinder is 5

cm but the bottom of the glass had a hemispherical raised portion. If the height of the glass is 10 ¢m, find the
actual capacity and apparent capacity of the glass.

From a sold right circular cylinder with base radius 3 cm and height 12 cm, a right circular cone of same base
radius and height equal to one third the height of cylinder is removed. Find the total surface area of the
remaining solid. [Use m = 3.14] .

The median of the following data is 28.5. Find the values of x and y.

C.L 0-10 [ 10-20 [ 20-30 [ 30-40 | 40-50 | 50-60 | Total |
Frequency 5 X 20 15 ¥y 5 60
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Section - E
This section consists of 3 Case Study questions of 4 marks each.

36. A boy standing at O, observed three kites at points A, B and C. Based on this answer the following:

¥
i

o4 ’7\
I v AT
A \
i T
4 -
.I..

X

(i) What is the distance between the kites at A and B?
(ii) What is the ratio in which y — axis divides the line segment AB?
(iii) What are the coordinates of point on the y — axis equidistant from B and C?
OR
What is the length of median of triangle through B?

37. Reema being a plant lover decides to open a nursery and she bought few plants with pots. She wants to
place pots in such a way that the number of pots in first row is 3, in second row is 5 and in third row is 7
and so on...

Based on the above answer the following:
(i) How many pots are there in 15th row?
(ii) If there are total 120 pots, how many rows are there?
(iii) If there are 21 rows, how many pots will be there in middle row?
OR
If she increases two pots in each row, how many plants will be there in 10 rows?

38. A jet fighter plane is flying in the sky at a certain height such that the angle of elevation of the plane from a

point on the ground is  60° . After 15 seconds the jet fighter plane reaches a point such that the angle of

elevation of the plane from the same point on the ground becomes 30° . Assume that the plane is flying at

a constant height above the ground.

Based on the above information, answer the following questions :

(i) Draw a well labelled figure for the above. (01)
(ii) If the jet is flying at the speed of 360 km/h then find the distance covered by the plane from initial
point to the final point in 15 seconds. (01)
(i) Ifthe jet is flying at a speed of 360 km/h then find the constant height at which it is flying. (02)
OR

If the jet is flying at the speed of 720 km/h then find the constant height at which it is flying.

(BCRE BEIED
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DATE : 08.12.2023 PREBOARD EXAMINATION 2023-'24 Time : 3 Hrs.
CLASS : X SUBJECT — SCIENCE Max. Marks : 80

" General instruction:
(i) This question paper consists of 39 questions in 3 sections.
(ii) All questions are compulsory. However, an internal choice is provided in some questions. A student is
expected to attempt only one of these questions.
(iii) 20 objective type questions carrying 1 mark each. Students have to write both correct option and answer.
(iv) 6 Very Short questions carrying 02 marks each. Answers to these questions should be in the range of
30 to 50 words.
(v) 7 Short Answer type questions carrying 03 marks each. Answers to these questions should be in the range of
50 to 80 words.
(vi) 3 Long Answer type questions carrying 05 marks each. Answer to these questions should be in the range of 80
to 120 words.
(vii) 3 source-based/case-based units of assessment of 04 marks each with sub-parts.
(viii) For assertion and reasoning questions options are
(a) Assertion and Reason both are true, and Reason is the correct explanation of Assertion.
(b) Assertion and Reason both are true, but Reason is not the correct explanation of Assertion.
(c) Assertion is true but Reason is false.
(d) Assertion is false but Reason is true.

SECTION A (PHYSICS : 25 MARKS)

Q.1  When a 4V battery is connected across an unknown resistor there is a current of 100mA in the circuit.

The value of the resistance of the resistor is —

(a)4 Q (b) 40 Q (c) 400 Q2 (d)25Q )
Q.2  When a straight conductor is carrying current:

(a) There are circular magnetic field lines around it at each point of conductor.

(b) There are magnetic field lines parallel to the conductor.

(c) There are no magnetic field lines.

(d) None of the above. (1)
Q.3  Assertion : Usually alloys are preferred over pure metals for making heating element .

Reason : Alloys get oxidised easily at higher temperature but pure metals do not. (1)
Q.4 (a) What do you mean by (i) atmospheric refraction. (ii) scattering of light. (2)

(b) Why is the colour of sky blue during the day? Explain.
Q.5  Draw the pattern of magnetic field due to a current carrying solenoid. What does the magnetic field
pattern inside the solenoid indicate? (2)
Q.6 (i) Write all the sign conventions applicable for spherical lenses.

(ii) Redraw the following diagrams (Fig.1) to complete the process of reflection or refraction, as per the
rule, for given ray in each case. (3)

T

Fig. 1

Q.7 (a) When do we consider a person to be (i) myopic and (ii) hypermetropic ?
(b) Write two causes of hypermetropia.
(c) Draw ray diagram to show, how is hypermetropia corrected. (3)
Q.8 State (i) Maxwell’s Right Hand Thumb Rule for magnetic field around a straight conductor carrying current.
(ii) Fleming ‘s Left hand rule for force on a conductor carrying current, placed in a magnetic field.
(iii) Function of Earth wire in a domestic circuit. (3)
Q.9  Read the given passage and answer the questions based on passage and related studied concept.
The ability of a medium to refract light is expressed in terms of its optical density .It is not same as
mass density. On comparing two media, the one with the large refractive index is optically denser
medium and the other with the lower refractive index is optically rarer. Also the speed of light through a
given medium is inversely proportional to its optically density.
(i) out of kerosene and water in which medium will the speed of light be greater? (1)
(i) Refractive indices of glass, water and diamond are 1.5, 1.33 and 2.42 respectively. If the angle of
incident is same in each medium then write the increasing order of the angle of refraction in these

media. (D
(iii) The absolute refractive indices of glass and water are 3/2 and 4/3 respectively. If the speed of
light in glass is 2 X 10% m/s ,calculate the speed of light in (a) vacuum  (b) water. (2)
OR

(iii) If speed of light in benzene and ruby are 2.00 x10° m/s and 1.75 x10® m/s respectively. Find
refractive index of a) Ruby with respect to Benzene & b) Benzene with respect to Ruby.
Contd...2
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Q.10 (a) Derive an expression for equivalent resistance of the three resistors connected in series.

(b) Study the circuit diagram Fig- 2, 7.252 A
GivenR; =72 Q. R; =8Q andR; =12Q e
find the value of ;3 B
(i) Equivalent resistance I
(i) Circuit current I. - = L: L =
(iii) potential difference across resistance Rz, <Y Fig-2 (5)

SECTION B (CHEMISTRY: 25 MARKS)
Q.11  Identify the basic salt from the following salts :

(a) NayCOs; (b) NH4CI (c) NaNO; (d) KCl (1)
Q.12  The salt used to remove permanent hardness of water is —

(a) NaHCO; (b) NaCl (¢) Nay;CO0;.10H;O (d) CaSOQs. Y2 H20 (1)
Q.13 Which one of the following properties is not generally exhibited by ionic compounds?

(a) Solubility in water (b) High melting and boiling point

(¢) Electrical conductivity in solid state  (d) Electrical conductivity in molten state (1)

Q.14  Bronze is an alloy of
(a) Copper and zinc  (b) Aluminium and tin (c) Copper, tin and zinc  (d) Copper and tin (1)
Q.15  Which of the following is not observed in a homologous series?
(a) Same functional group. (b) Difference of —CH, and 14 u of molecular mass.
(c) Change in chemical properties (d) Gradation in physical properties (1)
Q.16 A part of homologous series is shown below :
CiHs , CaHs , Cs Hg
Which of the following is a part of the series shown above 7 (1)
(a) C: Ha (b) C2 Hy (c) CsHs (d) CsHaa
Q.17 Common salt is not a raw material for
(a) Bleaching powder (b) Plaster of Paris (c) Baking soda (d) Caustic soda (1)
Q.18  Assertion (A) : Reaction of quicklime with water is an exothermic reaction.
Reason (R) : Quicklime reacts vigorously with water releasing a large amount of heat. (1)
Q.19 (a) Identify the reducing agent and the substance reduced in the following reaction —
Fe;0;+2A1 — 2Fe+ AL Os (2)
(b) Name the gases evolved at anode and cathode during electrolysis of water.
Q.20 (a) Give an example of precipitation reaction [ balanced chemical equation ]. (3)
(b) Balance the following chemical equations :
(i) HS+0; - H0+80; (i) K+H0 - KOH + H;
Q.21 (a) You have two solutions A and B. The pH of solution A is 5 and pH of solution B is 9.
(i) Which solution has more H' ion concentration
(ii) Which solution is acidic and which is basic.
(b) The industrial process used for the manufacture of caustic soda involves electrolysis of an aqueous solution
of compound X. In this process, two gases Y and Z are liberated. Y is liberated at cathode. Z which is
liberated at anode, on treatment with dry slaked lime form a compound B. Name X, Y, Z and B. (3)
OR
Q.21 (a) Plaster of Paris should be stored in moisture proof containers. Explain Why?
(b) What is a neutralisation reaction? Give two examples [ balanced chemical equation 1.
Q.22  Write the chemical equation for the following :

(a) Combustion of methane. (b) Oxidation of ethanol.  (¢) Hydrogenation of ethene.
(d) Saponification reaction. (e) Esterification (5)
OR

Q.22 (a) Draw two structural isomers of butane.
(b) Draw the structures of propanol and propanone.
(c) Name the second homologue of (i) alcohols  (ii) Aldehydes.
(d) Write the TUPAC name of the following :
(I} CHj—CHI—CHch] {i.I} CH:- CH:—C “CH}
I
0
(e) Show the covalent bond formation in nitrogen molecule.
Q.23  Reads the given passage and answer the questions given below :
On the basis of reactivity metals one grouped into three categories :
(i) metals of low reactivity. (i) metals of medium reactivity (iii) metals of high reactivity.

Therefore, metals are extracted in pure form from their ores on the basis of their chemical properties.

Metals of high reactivity are extracted from their ores by electrolysis of the molten ore. Metals of low
reactivity are extracted from their sulphide ores, which are converted into their oxides. The oxides of

these metals are reduced to metals by simple heating. Metals of medium reactivity are extracted by
calcination and roasting and followed by reduction and purification.

(a) Name the process of reduction used for a metal of high reactivity. (1)
(b) Why sulphide ores are converted into oxides ores during extraction process? (1)
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Q.24

Q.25

Q.26

Q.27

Q.28

Q.29.

Q.30

4§

(c) Describe briefly the method to obtain mercury from cinnabar. Write the chemical equation for the

reactions involved in the process. (2)

OR
(c) Differentiate between roasting and calcination. (two points)
SECTION C (BIOLOGY : 30 MARKS)

In a food chain, the snake predated a rabbit which fed on fresh green bushes. What percentage amount
of the energy accumulated by rabbit, would be acquired by snakes? (1)
(a) 90% (b) 10% (c) 50% (d) 25%
Study the given food chain in a grassland and select the correct option. (1)

¥ ~
&R e~

(a) Grasshopper gets energy from frog (b) Grasshopper gets energy from the sun.
(c) All the organisms except grass get energy from the sun. (d) Grass gets energy from the sun.

Identify the given figure A and the parts labelled as B and C. (1)
-]

(a) A-Neuron, B-Axon, C-Neuromuscular junction

(b) A-Neuromuscular junction, B- Axon. C-Nerve ending

(c) A-Muscle fibre, B-Axon, C — Dendrite

(d) A-Neuromuscular junction, B-Axon, C-Dendrite

Which of the following statement does not relate to the given diagram? (1)

B By g e e
(a) Inheritance from the previous generation provides a basic body design.
(b) Inheritance from the previous generation provides subtle changes in the next gene
(¢) Due to sexual reproduction, subtle changes are passed on to the next generation.
(d) Minor differences are observed between the generations due to small inaccuracies in DNA copying.

Which chamber is the first to receive oxygenated blood from the lungs in the figure given below. (1)
¥

(a) W (b) X (c) Y (d) Z

The genotype of violet flowered plant is (WW) and that of white flowered plant is (ww). Hybrid of a
cross between these two were self pollinated and obtained F; progeny, What will be the ratio of WW.
Ww, ww plants in this progeny ? ' (1)

(@) | WW : Ww : ww (b) | WW : Ww : ww
L 2 182 Y ¢ 2+:32
(e) | WW: Ww: ww (d) | WW: Ww: ww
U 2 & 5 1 o

The image of regeneration in planaria is given below: Select the correct statements (1)

e | (i) Planaria reproduces sexually

et - (ii) Planaria reproduces asexually

e h T é; (iii) Planaria is a unicellular organism
mﬁz?‘“ @ (iv) Planaria is a multicellular organism

(@) (ii)only  (b) (iv) only (c) (i) and (iii) (d) (ii) and (iv)
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Q.31  Assertion (A) : One enzyme can work for all substances and break down all these substances. (1)
Reason (R) : Specific enzymes are needed for breakdown of specific substances :

Q.32 Assertion (A) : In fishes, there is a mixing of oxygenated and deoxygenated blood (1
Reason (R) : Fishes have double circulation,

Q.33 Name the hormones secreted by the following endocrine glands and specify one function of each.

(a) Thyroid (b) Pituitary (2)
Q.34  How do variations arise in organisms? Give two reasons. (2)
Q.35.  Identify the parts from the given figure (A - D). (2)

"1_‘

The part /organ
(a) Wherc testis are located? (b) Release hormone testosterone
(¢) Ejaculatory organ (d) A long tube carrying sperm, connects with seminal vesicle,

OR
Name the two types of germ-cells present in human beings. How do they structurally differ from
each other? Give two differences?

Q.36 (a) Write one function of each of the following components of the transport system in human beings  (3)
(i) Blood vessels (ii) Heart
(b)What is transpiration?
(c) Explain any two significance of transpiration in plants.

Q.37 Differentiate between biodegradable and non-biodegradable substances with the help of one example
each. List two changes in habit that people must adopt to dispose non-biodegradable waste for saving
the environment. (3)
Q.38 (a) “The sex of a child is determined by what is inherited from the father and not the mother.” Justify,
(b) How did Mendel explain that it is possible that “a trait is inherited but not expressed in an organism”?(5)
OR
(a) Why did Mendel choose garden pea for his experiments? Write two reasons.
(b) List two contrasting visible characters of garden pea Mendel used for his experiment,
(c) Explain in brief how Mendel interpreted his results to show that the traits may be dominant or recessive.
Q.39 In garden pea plant, height of stem is controlled by a pair of alleles. Only one of the parental traits
appeared in the F| generation and other traits remain hidden. The flowers of a tall plant (195 cm) were
self-pollinated, the height variation in the plants produced shown in the chart below:
80

W o T T e
G | | 1 e Ty

TSl Al
Height of P B
(a) What is gene? o i i (1)
(b) Mention one difference between inherited traits and acquired traits. (1)
(¢) Do offspring and their parents have same trait? (2)

OR
Why are asexually reproducing organisms capable of showing hereditary features more?

80508 R
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General Instructions :

R

. Attempt all questions,

- Answer 1 mark questions as directions given.

. Very short Answer Type Questions carry 2 marks each. Answer to each questions should not exceed 40 words.
- Short Answer Type Questions carry 3 marks each. Answer to each question should not exceed 60 words.

Long answer type questions carry 5 marks each. Answer to each questions should not exceed 120 words.

Case based questions with three sub questions carry 4 marks each. Answer to each question should not exceed 100 words.

Map based questions carry 5 marks with two parts, History (2 marks) and Geography (3 marks).
There is no overall choice in the question paper. However, an internal choice has been provided in a few
questions. Only one of the choices in such questions has to be attempted.

History and Civics (40 Marks)

Q.01 Identify the correct option that describes the Act given below.

(1) It was signed in 1707.

(ii) It was signed between England and Scotland.
(iii) It resulted in the formation of the ‘United Kingdom of Great Britain’,
(iv) Due to its effect England was able to impose its influence on Scotland.

Options :
(a) Vernacular Press Act (b) Inland Emigration Act
(c) The Act of Union (d) The Irish Act of Union

Q.02 The official religion of Sri Lanka is ............

() Buddhism (b) Islam (c) Hinduism (d) Christianity

Q.03 Which of the following could be considered as the advantage of Federalism and decentralization?

(a) It prevents government overreach and takeovers.

(b) Itallows different localities to adopt their policies to the needs and wishes of local population.
(c) It prevents the state from being able to carry out its basic functions.

(d) It reduces the State Government's autonomy.

Q.04  Assertion (A) : The makers of our Constitution chose the model of a Secular State.
Reason (R) : Communalism was and continues to be one of the major challenges to the democracy in India.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(c) (A) is correct but (R) is wrong.

(d) (A) is wrong but (R) is correct.

Q.05 You are a feminist and want to suggest your government some measures for the empowerment of women

Q.06 Study the picture and answer the questions that follows :

politics. Which of the following measures would be the best from your end?
(a) Financial support. (b) Fair representation in the Elected Bodies.
(c) Equal wages for both men and women. (d) Strict laws to control domestic violence.

o & Sal)

Which of the following events was related to the above image of Gandhiji?
(a) Non-Cooperation Movement (b) Kheda Satyagraha (c) Dandi March (d) None of these

Q.07 In the context of democracies, which of the following idea is correct — democracies have successfully

eliminated:

(a) Conflicts among people.

(b) economic inequalities among people

(c) differences of opinion about how marginalized sections are to be treated.
(d) the idea of political inequality.
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Q.08

Q.09

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15
Q.16

Q.17
Q.18

Q.19

Q.20

Democratic government is legitimate because —

(a) It accommodates social diversities.

(b) Itis people’s own government elected by the people.

(c) It addresses socio-economic and political problems.

(d) All the above. (1)

Arrange the following statements in sequential order based on the events that shaped India and the World of
Print.
(i) The Vernacular Press Act was passed.
(ii) Rashsundari Debi wrote and published her autobiography ‘Amar Jiban®.
(iii) Jyotiba Phule wrote about the injustices of the Caste System in his book ‘Gulamgiri’.
(iv) The first printed edition of the Ramcharitmanas of Tulsidas came out from Calcutta.
Options :
(a) iv, iii, ii, i (b) ii, i, iv, iii
(¢) i, iv, iii, ii (d) 1, i, iii, iv 1)
Consider the statements given below and choose the correct answer,
Statement I : Trade and cultural exchange always went hand in hand.

Statement II : Jainism emerged from Eastern India and spread in several directions through interesting
points of the sik routes.

(a) Both the statements, [ and II are correct.

(b) Both I and II are incorrect.

(c) Statement I is incorrect, but Il is correct.

(d) Statement I is correct, but Il is incorrect. (1)
Choose the right option to fill in the blank.

Decisions in a democracy are more acceptable to the people because they are ................ A

(a) Taken swiftly. (b) Taken by giving privileges to some people.

(c) Taken through elites’ votes. (d) Taken after following due processes. (1)
Which of the following measures does not establish Sinhala Supremacy in Sri Lanka.

(a) Sinhala is the only official language. (b) Preferential policies for government jobs.

(c) The state shall protect and foster Buddhism. (d) Equal political rights to Sri Lankan Tamils. (1)

Study the map thoroughly and answer the questions that follow :

Communities and regions
of Belgium

(a) What is the language spoken by the people of the shaded part in the Southern Belgium?

(b) What is the name of the city that is shaded in the north of Belgium? (2)

Why was Simon Commission sent to India? Why was it boycotted by the Indians? (2)
OR

What were the causes for the withdrawal of the Non-Cooperation Movement?

Mention any two features of ‘Secularism’ described in the Indian Constitution. (2)

Explain any three effects of the Non-Cooperation Movement on the economy of India. (3)

Describe any three features of federalism incorporated in the Indian Constitution. (3)

How did nationalism aligned with imperialism become the cause of the First World War? Explain. (5
OR

“Culture played an important role in creating the idea of the nation, in Europe.” Explain with examples.

Describe the necessity of political parties in modern democracy. (5)
OR

What is a political party? What are different challenges before the political parties? (1+4)

Read the source given below and answer the questions that follow : (4)

New forms of popular literature appeared in print, targeting new audience. Booksellers employed peddlers
who roamed around villages, carrying little book for sale. There were almanacs or ritual calendars, along
with ballads and folktales. In England, penny chapbooks were carried by petty pedlars known as chapmen,
and sold for a penny, so that even the poor could buy them.

(a) What is an Almanac? (1)

(b) What is a chapbook? _ . ] (1)

(¢) Give any two examples of new form of literature that were available to readers in Europe in the
eighteenth century. (2)
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Q.21 Two features (A) and (B) are marked on the given outline political map of India. Identify these features with

Q.22

Q.23

Q.24

Q.25
Q.26

Q.27

Q.28

the help of information and write their correct names in the answer-sheet. (2)
(A) Indian National Congress Session was held at this place in December, 1920,
(B) Mahatma Gandhi broke the Salt Law at this place.

Geography (20 Marks)
Identify the soil with the help of the following clues.
(i) The soils are made up of extremely fine clayey material.
(ii) They are well known for their capacity to hold moisture.
(iii) They develop deep cracks during the hot weather season.
(a) Alluvial soils (b) Laterite soils (c) Black soils (d) Arid soils (1)
Assertion (A) : In Sariska Tiger Reserve, Rajasthan, villagers have fought against mining by citing the
Wildlife Protection Act.
Reason (R) : The famous Chipko Movement in the Himalayas has successfully resisted deforestation in
several areas.
(a) A is true but R is false.
(b) Ais false but R is true.
(c) Both A and R are true and R is the correct explanation of A,

(d) Both A and R are true, but R is not the correct explanation of A. (1)

Which of the following provides the most favourable condition for growth of railways?

(a) Northern Plains (b) Himalayan Mountains

(c) Sandy Plains of Rajasthan (d) Swamps of Gujarat (1)

Describe the geographical conditions required for the cultivation of jute under the following heads.

(i) Climate (ii) Soil (2)

Non-conventional sources of energy are the sources of energy for the future. Justify the statements in

three points. (3)

The economic strength of a country is measured by the development of manufacturing industries.

Substantiate the statement. (5 points) (5)
OR

Although industries contribute significantly to India’s economic development, the increase in pollution and
resulting degradation of the environment cannot be overlooked. Suggest any 5 steps to minimize the
environmental degradation caused by industries.

Read the source given below and answer the questions that follow:

Multi purpose projects and large dams have also been the cause of many new environmental movements
like the ‘Narmada Bachao Andolan’ and the “Tehri Dam Andolan’ etc. Resistance to these projects has
primarily been due to large scale displacement of local communities,

Many thought that given the disadvantages and rising resistance against the multi-purpose projects, water
harvesting system was a viable alternative, both socio-economically and environmentally. In ancient India,
along with the sophisticated hydraulic structures, there existed an extraordinary tradition of water harvesting
system.
In hill and mountainous regions, people built diversion channels like the ‘guls’ or ‘kul’s’ of Western
Himalayas for agriculture. In the flood plains of Bengal, people developed inundation channels to irrigate
their fields. In arid and semi-arid regions, agricultural fields were converted into rain fed storage structures
that allowed the water to stand and moisten the soil like the ‘Khadins’ in Jaisaler and ‘Johads’ in other parts
of Rajasthan. _
28. (i) What was the primary cause of environmental movements against Multi-purpose projects and
large dams? (1)
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Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

HY B
28. (i) What are ‘Khadins’? (1)
28. (iii) Explain why water harvesting system has been considered a viable alternative to Multi purpose
projects. (2)-
Cfn t]w gi*s:ren+ political map of India locate and label any three of the following.
(i) Bailadila iron ore mine (ii) Tehri dam (iii) Kandla sea port (iv) Noida Software Technology Park (3)

Economics (20 Marks)

Em:;?ﬂ?'{ the following term is defined as the average expected length of life of a person at the time of
e ! 1
(a) Birth Rate (b) Life Expectancy (¢) Life Span (d) Mortality Rate L

Sheetal owns a small flower shop near a temple. She wants to expand her shop by keeping exotic
flowers and flower bouquets. To whom she should approach for a very short term credit? (1)
(a) Money Lenders as they provide short term credit (b) Banks as they charge low interest

(c) Cooperatives as they do not require collateral (d) None of the above

Removing barriers or restrictions set by the government is known as —------eeemmm- : (1)
(a) Globalisation (b) Disinvestment  (c) Privatisation (d) Liberalisation

Which of the following statements held that workers are exploited in the unorganised sector? (1)

Identify the correct option.
(i) There are no fixed number of working hours.
(ii) They do not get other allowances apart from the daily. wages.
(iii) They can be asked to leave the job at any time.
(iv) Workers are registered by the government and have to follow the rules and regulations.

Codes:

(a) Both i) and ii) (b) Both ii) and iii)

(c) 1), i1) and iii) (d) Only iv)
Tax on imports is an example of: (0
(a) Terms of Trade  (b) Collateral (c) Trade Barriers (d) Foreign Trade
Explain how public sector contributes to the economic development of a nation. 3)

OR
Mention the main aim of MGNREGA, 2006 and why do you think it is referred to as ' Right to Work'?

Analyse the table given below and answer the following questions:

YEAR | PRIMARY | SECONDARY | TERTIARY
2000 52,000 48,500 1,33,500
2013 8.00,500 10,74,000 38.,68,000
(a) What is the basic conclusion you can draw from the above table? (1)
(b) In India, the share of agriculture in GDP has declined at a very fast rate in recent years. What is the
reason behind this? (2)
Distinguish between formal and informal sources of credit giving three points of distinction. Explain the
role of Reserve Bank of India in supervising the formal sources of credit. (2+3=5)
OR
(a) “Cheap and affordable credit is crucial for the country's development.” Explain. (3)
(b) Explain the reasons why Bank and Cooperatives must increase their lending particularly in rural
areas. (2)

Read the source given below and answer the questions that follow:

For comparing countries, their income is considered to be one of the most important attributes. Countries
with higher income are more developed than others with less income. This is based on the understanding
that more income means more of all things that human beings need. Whatever people like, and should
have, they will be able to get with greater income. So, greater income itself is considered to be one
important goal. Now, what is the income of the country? Intuitively, the income of the country is the
income of all the residents of the country. This gives us the total income of the country. However, for
comparison between countries, total income is not such a useful measure. Since, countries have different
populations, comparing total income will not tell us what an average person is likely to earn. Are people
in one country better off than others in a different country? Hence, we compare the average income
which is the total income of the country by its total population. The average income is also called per
capita income. In World Development Reports, brought out by the World Bank, this criteria is used in
classifying countries. Countries with per capita income of $49,300 per annum and above in 2019, are
called high income or rich countries and those with per capita income of $ 2500 or less are called low
income countries. The rich countries, excluding countries of Middle East, and certain other small
countries are generally called developed countries.

(a) Explain the significance of per capita income. (2)
(b) What are the classifications of countries based on per capita income, and which entity is responsible
for determining these classifications? 2)
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Q.1

Q.2

Please read the instructions carefully.

This Question Paper consists of 21 questions in two sections: Section A & Section B.

Section A has Objective type questions whereas Section B contains Subjective type questions.
Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =)15 questions in the allotted
(maximum) time of 2 hours.

All questions of a particular section must be attempted in the correct order.

SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS):

i.  This section has 05 questions.

ii. Marks allotted are mentioned against each question/part.

iii. There is no negative marking.

iv. Do as per the instructions given.

SECTION B - SUBJECTIVE TYPE QUESTIONS (26 MARKS):

i.  This section has 16 questions.

ii. A candidate has to do 10 questions.

iti. Do as per the instructions given.

iv. Marks allotted are mentioned against each question/part.

Section A: Objective Type Questions

Answer any 4 out of given 6 questions on Employability skills. (1x4=4 marks)

(i) is a force within an individual which drives people to do the things.

(ii) Shiv has selected a folder in D: drive. He clicked on the folder and hold mouse button down

(1)

then moved it to new location then he released the mouse button. Here Shiv has performed which

of the following mouse action?
(a) Hover (b) Double click (¢) Drag and Drop  (d) Selection

(1)

(iii) Assertion (A) : Prajakta has her own beauty saloon in her local areas. She hired two women in her

saloon.
Reason (R) : She is helping society to grow.
(a) Both A and R are correct and R is the correct explanation of A
(b) Both A and R are correct but R is NOT the correct explanation of A
(c) A is correct but R is not correct
(d) A is not correct but R is correct

1)

(iv) Dhruvin is preparing for exam. He avoids time wasters like chatting on phone, surfing gossip sites

etc. and focus on more important things. This is one of the steps of effective time management,

identify the same:
(a) Organizing (b) Prioritising (¢) Controlling (d) Tracking

(v) Avee is working as team leader. He sent a message on WhatsApp for a sort meeting after their
dispersal in office. But many of his team members not attended the meeting. This is an example

of

(a) Physical Barrier (b) Cultural Barrier (c) Organization Barrier (d) Linguistic Barrier

(vi) is the development that satisfies the needs of the present without compromising the
capacity of future generations, guaranteeing the balance between economic growth, care for the

environment and social well-being.
(a) Social Development (b) Sustainable Development
(¢) Financial Development (d) Cultural Development

(1

(1)

(1)

Answer any 3 out of the given 6 questions (1x5=5 marks)

(i) Assertion (A) : Life without machine is unimaginable today.
Reason(R) : Machines are made with an intent of irritating humans.
(a) Both A and R are correct and R is the correct explanation of A
(b) Both A and R are correct but R is NOT the correct explanation of A
(¢) A is correct but R is not correct
(d) A is not correct but R is correct

(1)
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(ii) ana is planning for a trip in Kerala in winter break. She searched hotels for the same. After that
she is getting notification about the same and advertisements in websites, apps and many more.

Which of the following term is perfectly match with this example? (1)
(a) Al Access (b) Data Privacy (c) Al Ethics (d) AI Manners
(iii) A is essentially a system of organizing machine learning algorithms to perform certain
tasks. (1)
(a) Natural Networks  (b) Neutral Networks  (c) Neural Networks (d) Neuron Networks
(iv) In neural network layers, the processing occurs. (1)
(a) Input (b) Hidden (c¢) Output (d) Top
(v) is a domain-specific language used in programming and is designed for managing
data held in different kinds of data structure. (1)
(a) CSV (b) Python (¢) Spreadsheet (d) SQL
(vi) Which of the following text normalization step considers every word, number or special character
separately? (1)
(a) Sentence Segmentation  (b) Tokenization (c) Stemming (d) Lemmatization
Q.3  Answer any 5 out of the given 6 questions (1x5=5 marks)

(i) Statement A : In today’s time, every technology around us is AL
Statement B : An Al machine too gets trained first on the training data and then optimises itself

according to its own experiences. (1)
(a) A is correct (b) B is correct
(c) Both are correct (d) Both are incorrect

(ii) In most of the virtual assistants female voices are more preferred over any other voice. This is an
example of (1)
(a) Al Bias (b) Gender Specification (c) Voice Filter (d) Neural Network

(iii) Which of the following domain of Al is working around alphanumeric information, numbers and
statistics? (1)
(a) Data Science (b) NLP (c) CV (d) Neural Network

(iv) Ashumans have eyes, so they can see anything and analyse it. Select an appropriate option
which adds a functionality like that in machines? (1)
(a) Natural Language Processing (b) Computer Vision (c) Data Science (d) Evaluation

(v) All the virtual assistants like Alexa, Google Assistants, Siri etc. can taken as (1)
(a) Smart Bot (b) Script Bot (c) Robot (d) Programming Bot
(vi) The recorded result of comparison between prediction and reality is knownas (1)
(a) Precision (b) F1 Score (¢) Confusion Matrix (d) Accuracy
Q.4 Answer any 5 out of the given 6 questions (1x5=5 marks)
(i) Which of the following states intention of machine learning? _ (1)
(a) Ability of machine to recognize human’s face, move objects and understand, command given
by humans then perform the tasks.
(b) Enable machines to learn by themselves using the data provided and make accurate
predictions/Decisions.

(c) Machine is trained with huge amounts of data which helps to train data
(d) Enable machines to write algorithm.

(ii) Which of the following is the final stage of Al Project cycle? ‘ (1)
(a) Problem Scoping  (b) Data Acquisition  (c) Evaluation (d) Data Exploration
(iii) Extracting data can be offense. (1)
(a) Yes (b) No (c) May be (d) None

(iv) Every photograph is in digital form is made up of (1)

(a) Lines (b) Dots (c) Pixels (d) Graphs
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(v) Spam filtering is an example of (M
(a) Text Classification (b) Automatic Summarization
(c) Sentiment Analysis (d) Bag of words
(vi) Observe the given images: (1)
Degree 1 Degree 4 Degree 15
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In above diagram, what the dots represents:

(a) Actual Output (b) Samples
(¢) Model Efficiency (d) None of these
Q.5 Answer any 3 out of the given 6 questions (1x5=5 marks)
(i) In Computer vision, input given to machine can be (1)
(a) Numeric & Alphanumeric (b) Photographs, Videos
(¢) Spoken words only (d) Text
(ii) The condition which predicts all predictions as No and reality is also No. this condition in known
as (1)
(a) True Negative (b) False Negative
(c) Negative True (d) All Negative
(iii) Which of the following domain of Al is used by the airlines companies for strategic areas of
improvements: (1)
(a) Data Science (b) Computer Vision
(¢) Natural Language Processing (d) Neural Network
(iv) Which of the following is the first step of bag of words algorithm? (1
(a) Create Dictionary (b) Text Normalization
(c) Create Document vectors (d) Stemming
(v) Which of the process removes the affixes from the corpus? ()
(a) Overfitting (b) Stemming
(¢) Underfitting (d) Accuracy
(vi) Which one of the following scenario result in a high false negative cost? (1)
(a) Viral Outbreak (b) Spam Filter
(c) flood (d) Mining
Section B: Subjective Type Questions
Answer any 3 out of the given 5 questions on Employability skills (2x3=6 marks)
Answer each question in 20-30 words.
Q.6  What are the various elements of communication cycle? (2)
Q.7  Mr E Shreedharan, Former Managing Director, Delhi Metro Rail corporation Ltd, was a self-motivated
and energetic person. What are the steps for building self-motivation? (2)
Q.8 Enlist and explain the major type of computer viruses in short. (2)
Q.9 How does an entrepreneur help society? What they do when they run a business? (2)
Q.10 'What do you mean by organic farming? Explain in short. (2)

Contd...4



. B

Answer any 4 out of the given 6 questions in 20 — 30 words each (2x4=8 Marks)

Q.11 Identify the intelligence demonstrating by the people: (2)

Q.12

Q.13
Q.14
Q.15
Q.16

Q.17
Q.18

Q.19

Q.20

Q.21

(a) Shreshthi is very good dancer. She is using her body for perfect moves

(b) Krishna is writing poems. He is able to find the meaning words, the orders of words, inflection and
meter of words

(¢) Dev is an accountant in a multinational company. He is very talented in the field of accounts and
managing the company’s finance effectively

(d) Mr. Shivanand is a politician. He has good ability to interact to others.

Observe the below given graph and explain the model in short. (2)

.. .."‘. s "" “':: ik y Lt ':- .--' + Wl
i 3 v e B Fify

How data science is useful in genetics and genomics?

(2)
Computer vision plays a vital role in making the home smarter. How? (2)
(2)

Explain text classification with example.

What is accuracy? Explain along with formula. (2)

Answer any 3 out of given 5 questions in 50-80 words each: (4x3 =12 marks)
Explain any 4 applications of Artificial Intelligence around us.

Nitya wants to acquire data from various sources for her new Al model. Explain her following:
(a) Data Features (b) Sources to collect data

i iy ==

Observe the following images and explain the related models:

Explain the following with respect to normalization with example:
(a) Sentence Segmentation (b) Tokenisation

An Al model made the following match winning prediction for a cricket match:

Reality(T) [ Reality(F)
Prediction(T) 23 22
Prediction(F) 11 . 12

(a) Identify the correct predictions and wrong predictions made by machine
(b) Calculate precision, recall and F1 score.
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